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10.

Foffea A adft $ eR A Ya Az 3 -
(A) FoTaT
(©) S

W1 B T - geraY 1 3ef B -
(A) 3(Hg T g
(C) Talt g4t a1 bR T IURAT

' g BT YUTgET ed § -
(A) UTaq
(© 3Fd

T * T faelH Tea § -
(A) e
(©) UHT

" FogTaHT ' T IR — fade orar g —
(A) T + TG
(C) TH + HIET

(B) 3=idd]
(D) 3sddl

(B) S T TR BIFT
(D)d HB A8 Bl ST

(B) 3%
(D) Uad

(B) SITAT
(D) Ay

(B) TG + HTGT

(D) STH Y DTS el

Tl oafad, o, RIF a1 WIa & T &I FAT Fd g ?

(A) T
© fopar

B AT S P UPREA T ?
(A) 3
©) 2

(B) ITH
(D) fa—iwor

(B)4

(D) 3TH Y BIS ol

T e S fohafl Teg & T e 39 31f F uRadT B A & TP 8 ?

(A) T
(C) Ty

AR ) iR B g -

(A) Tl
(C) I

fe<Y quinaTen & TRl ot IBI | ?
(A) 5
(©)11
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(B) IuTf
(D) I

(B) TMETWl
(D) SIANRY

(B) 21
(D) 15




11. Choose the correctly spelt word —
(A) Damaige (B) Dammage
(C) Dammege (D) Damage

12. Give one word substitute for the following : “ A Vehicle which is used to carry
injured person ‘
(A) Ambulance (B) Hearse
(C) Car (D) None Of these

13. Select the Antonym of word “ Beautiful “
(A) Nice (B) Awesome (C) Ugly (D) Boring

14. Select the Synonym of word “ Calm “

(A) Quiet (B) Crash (C) Radiant (D) Innocent
15. Hekilled a tiger ................. a rifle.
(A) by (B) with (C) from (D) at

|H

16. Choose the superlative degree of “ wel

(A) Good (B) Better (C) Best (D) Superior
17. Radhais.....cccoeeueeee.. MLLA
(A) a (B) an (C) the (D) None of these

18. Select the passive voice of ‘ Vivek eats mangoes .

(A) Mangoes are eaten by Vivek (B) Mango are being eaten

(C) Vivek eaten mangoes (D) Mangoes has been eaten
19. They will not ............ a lion.

(A) kill (B) killed (C) killing (D) kills

20. What is the meaning of the phrase a bad egg ?
(A) a person who is dishonest
(B) a person who is honest
(C) a person who is known
(D) none of these

. ___________________________________________________________________________________________________|
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(A) UTAISH (B) ST
(C) 3T (D) ghex
22, WHUUS ... ? i I had HiG WAT ¢ -
(A) RMBTERT (B) HIHTERI
(C) Tafert (D) 399 ¥ PIS el

23. TP TS S AR BiE0) &) WRI WA B MIF §
(A) FIEEEIS (B) WY

(C) faerfem (D) Pfcxrad
24. O BT IS TG -

(A) CO;, (B) HNO;

(C) H:0 (D)CHa4

25. fefA DA EHN AP ITEATR ?
(A) Rea (B) M ETaHfRmEn
(C) A 3R B aFI (D) T8 ¥ BT A&t

26. U Afod B THTS 1.65 HieX 8, 39 I & o
R

(A) 16.5 T (B) 165 T

(C) 1650 I (D) TTH A BIs T8
27. TH fAQGaAIAH o e g -

(A) 2 (B) 4

(C)6 (D)1

28. U A DN IS FEHI Ul g ?
(A) BTTSA (B) i gt
(C) TR (D) dIg B! BIA

29. B OIYT GRT 3fUAT HISH S & oI SuTNT ot
S dTel a1 BT G ... g -

(A) CO; (B) O,

(C) N, (D) CO

30. HARTT ¥ Nifsd safdd & TRR &1 oI IT HAT

gyfad glar g ?
(A) R.B.C (B) W.B.C
(C) Tpd (D) BthS

21. Which of these is a root?

(A) Spinach (B) Brinjal
(C) Potato (D) Beetroot
22. The tiger is a............ because it eats only meat.

(B) Non-vegetarian
(D) None of these

(A) Vegetarian
(C) Omnivore

23. A mineral is essential to keep our bones healthy.
(A) Carbohydrate (B) Protein
(C) Vitamin (D) Calcium

24. The chemical formula of water is —
(A) CO, (B) HNOs
(C) H20 (D) CHa4

25. Which disease is caused by deficiency of  Vitamin D?
(A) Rickets (B) Osteomalacia
(C) Both Aand B (D) None of these

26. The height of a person is 1.65 meters, express

itincm —

(A) 16.5cm (B) 165 cm

(C) 1650 cm (D) None of these
27. An electric cell has.............. terminals —
(A) 2 (B) 4 (€)6 (D)1

28. Which of the following is a magnetic

substance?
(A) Paper (B) Wood
(C) Rubber (D) Iron nail

29. The component of air used by green plants to
make their food is..............
(A) CO2 (B) 02 (C) N2 (D) co

30. Which part of the body of a person suffering
from malaria is affected —

(A)R.B.C (B) W.B.C

(C) Liver (D) Lung
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31. US Hicx ¥ Uid 90 Th 1Y T = HRd & 3R
HH: 6,7, 8,9, 12 Ve & ARTA W ToId &, @l foba

YbS §1G I8 T 1Y Toli] ?

(A)72  (B)612 (C) 504 (D) 318
32, (zx%+§ W%)WIIF[%?

(A) = (8) -

(€ — (D) 3

33.

\/129+\/216+\/68+\/169 ST Ferd —

(A)9 (B) 12 (C) 13 (D) 15

34. & % UYH YT TSN BT 3G T BN -
(A)5 (B)6  (C)7 (D) 8

35. 19 P fpaufawd 7.6 8 2
(A)35% (B)48% (C)60% (D) 40%

36. U 9] 1 3ifthd Yoo 3600 U3 § quT fashg ged
3132 ¥UY § Fe Ufa=Id 1 8 2
(A)12% (B)13%  (C)17.21% (D) 14.94%
37. U& YRR WR 6% Ufdas &1 & ¥ 8 HelH P AR
TS 340 ¥ 8 | YRR &7 AF (F9) T FTg ?
(A)8500 (B) 9500  (C) 8000 (D) 6800

38. Afpd o &Y 5 faq A ordr g aur B I Hrf !
10T AT g, aRR SR ST sl P I A Y d a8

B fpam femt & Twe 8 Sie ?
(A) 5 faT () 10feA
() 15 faT (D)lg—oﬁtr

39. 600 Hiex Tdll T YAST 1000 Hiex o T Wk B
IR B H 80 JPbS HITIHT Al &1 oS! b1 fd
(HieAdbe) H g ?

(A)20  (B) 72 (C) 16 (D) 36

40. 2.5% ! YT H ged -

25 25
(A) 5 (B) =5

(C) = (D) 70 q ¥ T

1000

31. If five bells start ringing together in a temple and
they ring at an interval of 6, 7, 8,9, 12 seconds
respectively, then after how many seconds will they
ring together?

(A)72  (B)612 (C) 504 (D) 318

3.3 4.
32.Theva|ueof(ZXZ+§)|s—

W= (/) ©=—= O

33. Find the value of]129+\j216+ 68 + 169

(A)9 (B) 12 (C) 13 (D) 15

34. Find the average of the first five multiples of two -
(A)5 (B)6 7 (D)8

35. What percentage of 19is 7.6 -
(A) 35% (B) 48% (C) 60% (D) 40%

36. The marked price of an item is Rs 3600 and the selling
price is Rs 3132. What will be the discount percentage?
(A) 12% (B) 13% (C)17.21% (D) 14.94%

37. The simple interest on a sum of money at the rate of 6%
per annum for 8 months is Rs 340. What will be the value of
the amount (in rupees)?

(A) 8500 (B)9500  (C) 8000 (D) 6800

38. A does a work in 5 days and B does the same work in 10
days, if both do that work together then in how many days
will the work be completed?

(A) 5 days (B) 10 days

10
(C) 15 days (D) 3—days
39. A 600 m long train takes 80 seconds to cross a 1000 m
long platform. What is the speed of the train (in
metres/second)?
(A) 20 (B) 72 (C) 16 (D) 36

40. Convert 2.5% to fraction —
25
V= (8) =

(C) 25

— (D) None of these
1000
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41. YR & IGAF T HA B8 ?

(A) TSy R BELES)

(C) ATaTacht (D) 31fArd =8
42. I UK S IIAH JATUTA @ ?

(A) T STH (B) 3ta Uea

(C) RIS Arrg (D) T I HIS et

43, dga -3 P UPe T o fpar T g
(A) PSLV - C—58 (B) PSLV - C— 57
(C) LVM3 - M4 (D) BT - 9

44, HIM AR F IRGHFR DG ?
(A) 31501 TRFRTST (B) I5apid AHGRT
(C) A 3R B g (D) TTH AP T

45. g a1 ¥ foceh # Ry ' Io0y ' &1 A1H Seads ol
TG ?
(A) Feiod TY
(C) T TR

() Sfera™ oy
(D) WU 7Y

46. BT 81 7 fr Y fohdpe et o1 3o TIPR |
grfad fear g 2

(A) PaCIT TTed (B) Tex Rig ¢t
(C) T $UR A1ed (D) Hewe 2t

47. YR & T HIE & qaqH G T S ?
(A) ST a8 <5ds (B) g9R Agal
(C) 3R, dpeHuft (D) Fo It fAaft

48. 810 & § RS T el o g T @ 2
(A) TS IRA (B) BHT WA
(C) BedT R (D) RRIg TRA

49. THIF ' FUR BTG ' N B 5 [REHR |
eTd AT T | ?

(A) YRd Id (B) U faymur

(C) TRT 4§01 (D) ST GREBR
50. ICMETETG T AT FEeTh T T AT § ?

(A) FHH TR

(B) TATRTS

(C) Uf&d diaara Ut TR

(D) AT TR

41. Who is the present Home Minister of India?
(A) Rajnath Singh (B) JP Nadda
(C) Mayawati (D) Amit Shah

42. Who is the present Governor of Uttar Pradesh?
(A) Mamata Banerjee  (B) Anandiben Patel
(C) Sarojini Naidu (D) None of these

43. Chandrayaan-3 was launched with which rocket?
(A) PSLV-C-58 (B) PSLV - C—-57
(C) LVM3 — M4 (D) Falcon—9

44. Who is the architect of Shri Ram Temple?

(A) Arun Yogiraj

(B) Chandrakant Sompura

(C) Both Aand B (D) None of these
45. Recently, what has been the name of 'Rajpath’
located in Delhi changed?

(A) Duty Path

(C) Sambhaji Nagar

(B) Sacrifice Path
(D) JP Path

46. Which cricket player has recently been honored

with the Arjuna Award?
(A) Kuldeep Yadav
(C) Surya Kumar Yadav

(B) Mahendra Singh Dhoni
(D) Mohammed Shami

47. Who is the present Chief Justice of the Supreme
Court of India?

(A) DY Chandrachud
(C) R. Venkataramani

(B) Tushar Mehta
(D) KC Niyogi

48. Who has been recently elected the Chief Minister
of Jharkhand?

(A) Champai Soren (B) Hemant Soren
(C) Kalpana Soren (D) Shibu Soren

49. Jannayak 'Karpuri Thakur' ji has been honored
with which award?
(A) Bharat Ratna

(C) Padma Bhushan

(B) Padma Vibhushan
(D) Nobel Prize

50. What has Allahabad been renamed as?
(A) Sambhaji Nagar
(C) Pandit Deendayal Upadhyay Nagar

(B) Prayagraj

(D) Maya Nagar

—
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51.

52

53.

54

55

56

57

58

59

60.

IR U & G forelt ot WRet farat & 2
(A) 70 (B) 72
(C) 75 (D) 80
. TS AT S g & 2
(A) Tfg &Te (B) IRTS
(C) 3/ H (D) 7T UG
YR H P Al faas e Fm S 8 ?
(A) 8 T (B) 170
(C) 13 HRaT (D) 10 fa¥sR
. TG Py I T AR T © ?
(A) 3 (B) AR
(C) el (D) IRTS
. fafreee @ forg are o7 A Geifia § 2
(A) R (B) el
(C) &S (D) STgdt
. SITUME $1 g1 8 ?
(A) gard (B) STeR
(C) USS (D) T
. TR @Y ey @ 2
(A)pTdcd (B) SXCITHTETE
(c) forg (D) FaTeTerX
. g aRT b dEs § ?
(A) TTfOrt (B) gy
(C) arcHifes (D) STOTHE
. IgH & feh 1 @il fora foam ot 2
(A) & B (B) TSTS SR
(C) aegd 3R fpp (D) TTH A B A
YR H Ugell 9R Yae! »d Iat ot ?
(A)1852 (B) 1853
(C) 1905 (D) 1925

RTSE 2024 EXAM

51. What is the total number of districts in Uttar
Pradesh?
(A) 70 (B) 72 (C)75 (D) 80

52. Where is Kaziranga National Park?
(A) West Bengal (B) Jharkhand
(C) Assam (D) Madhya Pradesh

53. When is National Women's Day celebrated in
India?

(A) 8 March (B) 1 May

(C) 13 February (D) 10 December

54. Manipuri is the classical dance of which state?
(A) Assam (B) Manipur
(C) Nagaland (D) Jharkhand

55. Bismillah Khan is related to which musical
instrument?
(A) Sitar (B) Tabla (C) Shehnai (D) Flute

56. What is the currency of Japan?
(A) Yuan  (B) Dollar (C) Pound (D) Yen

57. Which is the capital of Malaysia?
(A) Kabul (B) Islamabad
(C) Thimpu (D) Kuala Lumpur

58. Who is the author of Harsh character?
(A) Padini (B) Vedavyas
(C) Valmiki (D) Banabhatta

59. Who discovered the vaccine of smallpox?
(A) Robert Koch (B) Edward Jenner
(C) Watson and Crick (D) None of these

60. When did the first train run in India?
(A) 1852 (B) 1853
(C) 1905 (D) 1925




(B) GUTHAT
(C) 3iege (i) (D) IrsgaTd
62. 1,3, e, 10
(A)5 (B) 6
(c) 7 (D) 8

63. qﬁxxyzyy : ccbabb :: xyyzzy : ?
(A) abbacc (B) bbacca
(C) abbcca (D) cbbaab

64. dfd DANGEROUS &1 SUOREGNAD forar Sie &
DAUGHTER &1 &1 ferar smaem 2
(A) RETHGUAD
(C) RETDAUGH

(B) RETGAUD

(D) 39 T PIs TaY

65. AR 3 Fel " B ATl Iofid & HTS B de1 81 "
TS T AT O T YEY § ?

(A) HERT 4TS (B) AT

(C) ==t (D) SitSIT

66. dfda+ a%m%,b+ﬁ2{¥ﬁ?ﬂ%,c—a%3¥ﬁ?ﬂ%
3R dx PG g A 24a6d4b9c8 = ?

(A) 20 (B) 17
(C) 6 (D) 19
6. R (=6 A=3 =54 -8 =104,
(OxA)+0 =7
w0 #1< 0 oA
68. Fufafaa & ¥ sre &1 Bifew
(A) TegaR (B) A
(C) BRaRt (D) A

69. Tfe 7 U 2024 HI AJIR 8 O 39 159 fga dIH
1 fga grm 2

(A) HHaR (B) HTEAR

(C) XfaarR (D) 79 ¥ IS el
70. a_bcaa_caa_ _

(A) abcc (B) abac

(C) aabc (D) baac

61. Country : President :: State : ?
(A) Chief Minister (B) Prime Minister
(C) Speaker (D) Governor

62.1,3, cceerrrnnn 10
(A)5 (B)6
()7 (D)8

63. If xxyzyy : ccbabb :: xyyzzy : ?
(A) abbacc (B) bbacca
(C) abbcca (D) cbbaab

64. If DANGEROUS is written as SUOREGNAD then
what will DAUGHTER be written as?

(A) RETHGUAD (B) RETGAUD

(C) RETDAUGH (D) None of these

65. Maya said, "My mother is the sister of Ranjeet's
brother." How is Ranjeet related to maya?

(A) Cousin brother (B) Uncle

(C) Uncle (D) Brother-in-law

66. If a represents +, b represents +, ¢ represents —
and d represents x then 24a6d4b9c8 =?

(A) 20 (B) 17

(C)6 (D) 19

67. If O =6, /\=3 N=5<>=4,[]=8 [J=10d,
(O xA)+ =72

w0 8> (0 (VAN
68. Sort out the following

(A) December (B) January

(C) February (D) March

69. If 7th April 2024 is Sunday then which day will be
its 15th?
(A) Monday
(C) Sunday

(B) Tuesday
(D) None of these

70.a_bcaa_caa_ _
(A) abcc
(C) aabc

(B) abac
(D) baac
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71. URR R TaBbRN B o 3R Udis S &I bl

P T BB 8 ?
(A) Hicleber (B) AGDBR
(C) Tifta®R (D) fopam

72. A HHAl & H AT S TaY Ugd GIE 3R
Afgaraft gRI IS TS -

(A) = SR S (B) 71 3iR <+

(C) g SR o (D) TTad 3R S
73. UGl el & U fre s gla & ?

(A) TS & U (8) Uiud & Ut

(C) It & Tl (D) & T

74. YA a3l & R T 9g B aral Al I T
FHEI AT ?

(A) RTdfde (B) AEH

(C) fpur (D) 3918
75. H&Y Ugd UTelq SHaR o ?

(A) T SR g (B) T 3R Fadt

(C) T 3R TTeT (D) 95 3R T
76. eV qAAM GHI A G ?

(A) fogR (B) TTfer e

(C) HRHER (D) ITR USH

77. T U Wil TS Urd Hi A off 2
(A)TieT (B)FAT  (Q)Fidl (D)<l

78. a¥q fafam vt | -
(A) &1 & SHTGM-UGH DI Yorait
(B) aRg3fi & 3G - UG &1 Jomeh
(C) TaT3fi & fore 49 & 3fTaM-UaM & yuren
(D) 39 A HIE TET

79. HEM WHNR fFg WA R U U g ?
(A) A@UA (B) =TI
(C) HigTolc Sl (D) IATGT

80. TIWIH UTS 7TS e ot -
(A) TAATPR (B) M
(c) Brpivfy (D) AHR SAHHR

71. What is the art of making pictures and
symbols by carving on stone called?

(A) Sculpture (B) Architect

(C) Musician (D) Farmer

72. Name those crops which were first grown
by men and women -

(A) Sugar and barley (B) Wheat and sugar
(C) Wheat and barley (D) Rice and barley

73. What were the pages of manuscript books

made of?
(A) Palm leaves (B) Peepal leaves
(C) Basil leaves (D) Neem leaves

74. What is a person who studies ancient
objects called?

(A) Archaeologist (B) Writer

(C) Farmer (D) Christian

75. Were the first domesticated animals?
(A) Sheep and goat (B) Cow and goat
(C) Cow and donkey (D) Sheep and cow

76. Presently Mehrgarh is ?
(A) Bihar (B) Pakistan
(C) Kashmir (D) Uttar Pradesh

77. Which was the first metal discovered?

(A) Copper (B) Gold

(C) Silver (D) Iron

78. Barter system is —

(A) System of exchange of money

(B) System of exchange of goods

(C) System of exchange of money for services
(D) None of these

79. At which place have great baths been
found?

(A) Lothal (B) Harappa

(C) Mohenjodaro (D) Rakhigarhi

80. The seal found in Harappa was —
(A) Rectangle (B) Round
(C) Triangular (D) Square shape
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81. Gt B! fHuHT Jgal Ug THI STl § ?

(A) I (B) sh

(C) T (D)Fefa

82. Wi ......... g

(A) dRT (B) U
(C)3uTE (D)yHPY

83. fayad qa &1 steifer fba=T gran @ 2
(A) 23.5°T80 (B) 0°

(C) 180°g&f (D) 180° T3
84. T 3T 3Hef TR U JadhR Hd T Bl § ?
(A) 285 ©e (B) 24 ©c

(C) 22 ©c (D) 365.25 f&

85. AeM! ®1 e & Rt FE A fPg T wTyEm g g 2

(A) Gterr (B) &1
)y (D) e
86. 3t WR fham T WRTEIu & 2
(A) 7 (B) 5
(0)6 (D)8

87.74 % TeU TS AU HTAHE ?

(A) IR (B)STIPIaT
(C)ufRrr (D)3feTehfeasT
88. R & Tay Sfefur YIT &t T Hed § ?
(A)Rrarferes (B)fgHmst

(C) TgaTst (D) T T+t

89. THeT <! fhg IR # et 8 2

(A) dg TR

(B) URId UENIFR

(C) 3RE MR

(D) 375 ¥ IS Tl

90. YRd ¥ fre- gu I8 € ?

(A) T (B)aI
(C)ef= (D) IR

81. Whose twin planet is Earth considered?
(A) Buddha (B) Venus
(C) Mars (D) Jupiter

82.The Sun is a..............
(A) Star (B) Planet
(C) Satellite (D) Comet

83. What is the latitude of the equator?
(A) 23.5° East (B) 0°
(C) 180° East (D) 180° West

84. When does the Earth complete one revolution on

its axis?
(A) 28.5 hours (B) 24 hours
(C) 22 hours (D) 365.25 days

85. Which of the following colors is used to represent the
fields ?

(A) Yellow (B) Green

(C) Brown (D) Blue

86. How many major continents are there on Earth?
(A)7 (B)5 (C)6 (D)8

87. What is the name of the world's largest continent?
(A) Europe (B) Africa
(C) Asia (D) Antarctica

88. What is the southernmost part of the Himalayas

called?
(A) Shivalik (B) Himadri,
(C) Sahyadri (D) all these

89. Narmada river meets which ocean?
(A) Indian Ocean

(B) Pacific Ocean

(C) Arabian Sea

(D) None of these

90. How many island groups are there in India?
(A) One (B) Two
(C) Three (D) Four
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91. FE B A fafdyaT & TgqdH-dH AT ?
(A) @ T (B) ¥ g T
(C) Tg-TaT (D) T it

92. HYHAR ¥ fHg UHR Pt S VEfd g ?

(A) T=HIAT (B) T
(C)dferrT (D) 3T ¥ BIS Taf
93. HRd # fg ¢ & AT I8 § ?

(A) feg (B) Rye@

(C) g (D) A gt

94. HRd B! 3B R a1 Haf et @ ?
(A) =IRRI I (B) Hgall |

(C) Tia # (D) UgTS! H

95. YRA H STOTG g3 AT ?

(A) 1946 (B) 1947

(C) 1948 (D) 2001

96. YR fHd FPR BTV § ?

(A) efHes (B) PeRudt

(C) yHfRTg (D) 3renfiics

97. 10 YIMR149 s fhg oifa § T&fda o ?
(A) TER SIfd © (B) SiTe Sifar &

(C) A 3R B M (D) 37H A P15 Aol
98. Gferd BT Hadd (1) FT R ?

(A) TSI T (B) Haa T

(C) A 3R B & (D) STH & 313 T8I
99. RO TG & frdr & =0 § {54 AFTSIar g ?
(A) 0 Y RTg 3idsH

(B) SIATERET g

(C) HeTeAT TTieht

(D) e §BTgR RITRa!

100. HRd A TRPR & fha TR & ?

(A) T (B) &l

(C) diF (D) TR

91. Which of the following are aspects of diversity?
(A) Food and drink (B) Religion and language
(C) Dress (D) All of these

92. Which type of wool is prevalent in Kashmir ?
(A) Pashmina (B) Kesari
(C) Ludhiana (D) None of these

93. People of which religion live in India?
(A) Hindu (B) Sikh
(C) Muslim (D) All of these

94. Where does most of the population of India live ?
(A) In cities (B) In palaces

(C) In villages (D) In mountains
95. When did India become independent?

(A) 1946 (B) 1947

(C) 1948 (D) 2001

96. What type of country is India?
(A) Religious (B) Fundamentalist
(C) Secular (D) Irreligious

97. To which caste did Dr. Bhimrao Ambedkar belong?
(A) From Mahar caste (B) From Jat caste
(C) Both Aand B (D) None of these

98. What is the meaning of Dalit?
(A) Pressed (B) Crushed
(C) Both Aand B (D) None of these

99. Who is considered as the father of the Indian
Constitution ?

(A) Dr. Bhimrao Ambedkar

(B) Jawaharlal Nehru

(C) Mahatma Gandhi

(D) Lal Bahadur Shastri

100. How many levels of government are there in
India?

(A) One (B) Two

(C) Three (D) Four
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